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Her. Carcan GemGerziin yyran macrep C.YoftEHrnity
0 HOpOMEUT YnaanCaarap XOTHH Q2000-OHH CaTcan GeMmGeruitn
©CBEpUiH aBapra majnrapyynrax ToMIDsSHUHD 2000-0HH 4-pcapuH
3-9-HH enpYYnsnm CIOPTHH TeB OPIOHX AByyncyrait,
Xo8p. ToMImpaHMft TaMAPUHE;mYYTINARE: marHag, ‘GafpHu
XenceHn sopuynaH 409000 Terpermfir CIIOPTHH &8pré XsmxnoHuft
‘3 sapunaac rapraxur Heg-do [I.EamcpaH-n 36BmoopcYrait,
TypaB. Toymssuuft Tecsufin HOTIYTB9p, mYYTauuity Gypsn-
ISXYYHEHT Xo&pmyTaap xéscpamaap Tyc Tyc Garameyraii.
‘ JlepeB. ToMmussuuitr vaoy cypran, 30XuoH CalifyynanTHh
OHIOD XBMEDDHI ABYYNSXHT MYYTYinity OYPOIISXYYHN maanracyraft.
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Haor. Tomipauuit Toces

a/ TaMup9moHH [marHan

I-p Gafip 20 x 3000 Ter = 60000 Ter
2-p Galtp 20 x 2500 Ter = 50000 Ter

3-p Gaitp 20 x 2000 Ter

40000 Ter

oyrn 150000 Ter

]

6/ Myyrammits marean

yne
I-p

I2 X 7 x 2000 Ter = IA8000 Ter
2 X7 x I500 mer = 21000 Ter

éyrn = I89000 Ter

B/ TanGait,Gaftpuu xenc 70000 Ter

Huitr myR = 409000 Ter
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VH Taunp'cnopTHH XOPOOHH 18 pTHH

©anHE XoBQmyraap XaBcpanT.

Haer. TommasHufl myyranuiin CypsnmsXYYH
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